EARAROBEEIERT — 2 N— IBISH —F

2018F12F 120 (k) 15EI%HA2AH

m"fﬁ%C 16# Y7F%—#% ‘ (%E] W ‘ (mEE] — | 4 (A) 14000 B
[AE4£] 17%&:180,000  ~ 2#&:42,000” ~ 33%&:18,000 M . 43%&:13,000 53 :9,000
& %B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
PN KEET] :28. -4-3- . — IR (5H1R)
1 4 Ny 7X7 "3 56.0 1(2_8)8 AR R 1 ‘zg? =S :
RN PVTTY BRTT—h—T Atedis
> ¢ 3 | WhHZ 1:29.2 5-5-5-4 | 37.9| — 5 471 | IU8BAZE (56H2)
21| XARIWINTY v # 56.0 @ o | @ 77—;(\ hEYa >
:IA2>T75y22 BiA-—FT1+IVR & s
s 4 3 | BlEFt 1:29.3 3-3-1-1 | 38.7| — 2 451 | RBR (8542)
3l8lg|RT7VILF 54.0 (1/2) (-6 | DIV TR-NT TR
RN=VITL BTN T a1y Y hE A
RYE IabVE it 4 | EHKE 1:30.0 2-2-1-2 [ 39.5| — 3 475 | FRILZEHE (S542)
al7l 7| T1>>70>7 1 54.0 3) +3) @) J PN
L:Tv TRy b BiI—-22 Y —T)— K OH—
o= 5 B4 | KIFWE 1:31.5 7-6-6-6 |39.8| — 6 436 | BEER (512)
5 JINZ/HTZ .0 @ 3 | (B .TPN};EH
Lihrn=— B:ov/ v Eibitse]
s 3 | EEERR 1:31.5 1-1-4-5 [41.1| — 4 42 | RBH (51)
6155 X/hH7 54.0 (74%) (-12) (A) ﬁ—/ﬁ‘ﬁ/\“—7;{7*y K
RFLGTANZ N BaHIRYy Do H—RFIN—9 229K
# 3 | HBEZ 1:32.3 5-7-8-8 |39.6| — | 7 | ad7 |fRER— (4Y)
7188 NJFa1—b a0 ) -6) (ﬁ)JPNéM
R:T7ROAFXLTEL BT )T o BEANAHSSE
C— e RZHl : -9-0- — SBREX (BHE)
8 6 Frt— K532 4 4 53?3% (}35;)3 9-9-9-9 |39.0 8 (3_95 S
RAN=3I2TFR—L B:EITT14—KU—L R&I4%
L —x f 4 | KED 1:33.1 8-8-7-7 |41.0| — | 9 | 432 |AMEEUK (EH)
9 2 54.0 (4) (3) | EAE
LG4 RNT—EY B4z ALT b A FHE
® I—F—@EBIERL
13—4— 5,7,9,4,(1,8),3,2,6
20—F— 5,7,9,4,1,3,8,2,6
3T—7— (7,9),4,5,1,3,2,8,6
AT =gr= 9,7,4,1,5,3,2,8,6
[ RN
B 4 1809 74K 1-4 340M & 1-4 1,830 &R 1-4-9 680F
# B 4 110M 4-9 120M B E 1-4 2,030 EE 4-1-9 5,460/
1 140 1-9 270M B H 4-1 2,570M
9 1009

ABICOVWTRDTEEERROODE. TR LIV,




